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Goal: to solve Pnaé(cwxs (ke

0.3t Lkt
400,000 = 100,000& or A&

For t.

j:) A ;oal ".)rol)erélf m" r\o.‘l'ura..‘ (o rt'Hn.m-S
(‘6‘\?41 ‘unde’” naturel ex[)ahcv\ tals),

Recall thot
AL T = (k) "
dx

of, solvmg for | (b):
R Ty = AL

b
whet hoppens if we plog b--e_q (where a. s
ey real ‘E‘:nker\? Pﬁ ' ProFerflcs of eX

e gt oo : ALY ¢ AL

(e®)” e

el

G- = Q.
;2‘”( “In aets you eut g{‘”
< A H\g.\{e.xP onent

In(e®) =a. | for any recl pumher .

Conclusion;
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'K,) AP‘:l\co:':lov\s fo " heco ’oﬁ” Probh\ms.

Exomple 1. ‘
Last time, we hod a Pdlwlai\on fiﬁr\/cn

h 0.3t
! P(+) = 100,000< (t <curs; P in ,:eof)le).
Hou long does it boke for pPlt] to recch

4 00, ¢

Solution.

We solve 0.3t
(00,000e.""" = 400,000
for t. Fnrsi, Aradle 641 (00,000 :

o-3t
c =4,

Teke \‘ln” o'c bo’H\ Slc&is:

ln(e_o'u) = /n('-l)
0.3t= [n(4)
t = In(4)/0.3 = 4.64... years.

E:KQMP(Q a
A semple of R arams of radiom 226

15 khown to &cuu{ a.cccir&m o the azua.:(::ons

d& = ’kRj R(o) = R°,
dt
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where j} is 'mc'ﬂmms,'{: in years, ond) k=0.00042%

YCO-\" ° - "
rlﬂ& é‘\e tl\&[C‘ lu-?e, G? r‘o.&wm 336, Mmﬁél\ow

lon.i'cf tokes for a sc.w?la to reduce by

Selvtion .

B\( (Ep) of last time, we krows that

R - Roe,' 0.0004&8.1:
We wont to khowst for which 1 is R= éRo?
SO we solvc : -0.00043Tt )
Qoe = a-Ro -
Rivide bY Re’ =0.00043&t _
e =73,
Toke [n:

(e~ o | (h)
- 0.00043%t = (')

—In(1/3)
t= o.noooalZ8 ';‘,’/,619-5 yeO-rSo




